It
Answer:

Al

rain tomorrow.

She
Answer:

a warm coat in the winter.

Answer:

a picnic on Sunday.

They
Answer:

to the beach next week.

He
Answer:

his bike to school tomorrow.

We
Answer:

a party next month.

Will it
Answer:

sunny this weekend?

The flowers
Answer:

blooming in the spring.

He
Answer:

a snowman in the winter.

They
Answer:

a vacation in the summer.




Answers

It rain tomorrow.

Answer: will rain

She a warm coat in the winter.

Answer: will wear

I a picnic on Sunday.
Answer: will have

They to the beach next week.

Answer: will go

He his bike to school tomorrow.
Answer: will ride

We a party next month.
Answer: will have

Will it sunny this weekend?
Answer: be
The flowers blooming in the spring.

Answer: will be

He a snowman in the winter.

Answer: will build

They a vacation in the summer.

Answer: will have



